DENSITY

1.  An object has a mass of 4.90g and a volume of 2.2ml.  What is the density?






2.  An object has a volume of 8.9ml and a density of 2.345g/ml.  What is the mass?






3.  An object has a mass of 45.36g and a density of 1.13g/ml.  What is the volume?





4.  Calculate the density of an object with a mass of 18.25 g and a volume of 5.0 g.





5.  Find the mass of an object that has a density of 0.90 g/ml and a volume of 4.500 ml.





6.  The mass of an object is 7.0 g with a density of 1.090 g/ml.  What is the volume? 
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